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(1) E = 5 MeV,
I = 100 mA

10 MeV.50 mA
ゝ

(2) E = 200 MeV
I = 1 µA

(3) E = 200 MeV
I = 1 µA

(4) E = 10 MeV
I = 1 µA

(5) E = 10 MeV
I = 10 µA

(6) E = 200 MeV
I = 0.1 µA

(7) E = 5 MeV
I = 1 µA

200cm 150cm

200cm+ 50cm

Ⅴ 0 90 ゝ 4m



38 ERL (2009/12/09) 5



38 ERL (2009/12/09) 6

2828

2828



38 ERL (2009/12/09) 7

2143

2143



38 ERL (2009/12/09) 8

3

21
43

2143



38 ERL (2009/12/09) 9

4

20
0

200



38 ERL (2009/12/09) 10

2081

2081



38 ERL (2009/12/09) 11

6

200

20
0



38 ERL (2009/12/09) 12

7

20
80

2000

20
81

200



ゝ ゝ の

″

µ

µ

″

µ

µ

µ

″

µ

µ

cERL ゝ の



38 ERL (2009/12/09) 14

″

µ

µ

µ

µ



38 ERL (2009/12/09) 15

″

µ

µ



38 ERL (2009/12/09) 16

″

µ

µ

µ



38 ERL (2009/12/09) 17

• ゝ

• 200cm+ 150cm

•
20µSv/h

30-50cm 10cm 20µSv/h

┘ ス
さ

ぜ さ



38 ERL (2009/12/09) 18

スゝゝ

Jenkins
H(total) = H(neutron) + H(photon)
             = H(GR)+H(MID)+H(HE) + H(brems)+H(second)

H(GR)
H(MID) (25<E<100MeV)
H(HE) (E>100MeV)
H(brems)
H(second)

0° ゝ Sakano
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H(total) = H(neutron) + H(photon)

= H(GR) + H(MID) + H(HE) + H(brems) + H(second)

= JE0(sin" /r)
2
[QHe

#d /$1sin" /(1# 0.72cos")2

+QMe
#d /$2sin" /(1# 0.75cos")2

+3.79 %10#13Z 0.73e#d /$3sin" ]

+J •10#13 • E0(sin" /r)
2
[133e

#µd / sin"
/(1# 0.98cos")1.2

+0.26e#d /$1sin" /(1# 0.72cos")2]

Jenkins


